
TOP HANDLE PETROL CHAINSAW GCS 428T PRO 27/01/2023

ART. NUMBER: 46057
MODEL: TOP HANDLE PETROL CHAINSAW GCS 428T PROSHEET: 1/7

SET 1

POS. CODE DESCRIPTION QTY
1 A05510 CYLINDER 1

2 A05511 PISTON RING 2

3 A05512 PISTON 1

4 A05513 CIRCLIP 2

5 A05514 NEEDLE BEARING GASKET 2

6 A05515 NEEDLE BEARING 1

7 A05516 PISTON PIN 1

8 A05517 CYLINDER SEALING GASKET 1

9 A05518 NUT 1

10 A05519 SEMI-CIRCLE KEY 1

11 A05520 FLY WHEEL 1

12 A05812 OIL SEAL 2

13 A05522 LEFT CRANKCASE 1

14 A05523 BEARING 6001 2

15 A05524 CRANKCASE GASKET 1

16 A05525 PIN 3X9 2

17 A05526 CRANKSHAFT 1

18 A05527 RIGHT CRANKCASE 1

19 A05528 SCREW M5X25 3

20 A05529 SCREW M5X20 4

21 A05530 SCREW M5X18 2

22 A05531 IGNITION 1

23 A05532 SPARK PLUG 1

24 A05533 MUFFLER GASKET 1

SET 1 
(25+26) A06444 MUFFLER 1

27 A05536 SPRING WASHER 2

28 A05537 SCREW M5X50 2



TOP HANDLE PETROL CHAINSAW GCS 428T PRO 27/01/2023

ART. NUMBER: 46057
MODEL: TOP HANDLE PETROL CHAINSAW GCS 428T PROSHEET: 2/7

POS. CODE DESCRIPTION QTY
27 A05536 SPRING WASHER 3

29 A05538 BASE ASSEMBLY 1

30 A05539 CLASP 1

31 A05552 TAPPING SCREW ST4.2X10 5

32 A05541 OIL TANK CAP 2

33 A05675 VALVE 1

34 A05543 BASE BUSHING 3

35 A05544 WASHER 3

36 A05545 SCREW M5X28 3

37 A05546 LINK STOPPER 1

38 A05547 CHAIN BLOCK SCREW 1

39 A05548 SPRAY TUBE 1

40 A05549 OIL FILTER 1

41 A05550 FELLING DOG 1

42 A05551 TAPPING SCREW ST4.8X14 2

43 A05553 WIRE COVER 1

44 A05554 BALANCER 1

45 A05555 BALANCER BASE 1

46 A05556 FUEL PIPE 1

47 A05557 INSULATED PIPE 1

48 A05558 FUEL FILTER 1

49 A05788 CLAMP 1

50 A05560 PIPE A 1

51 A05561 CLIP 3

52 A05562 O RING  10X1.5 2

53 A05563 FITTINGS 1



TOP HANDLE PETROL CHAINSAW GCS 428T PRO 27/01/2023

ART. NUMBER: 46057
MODEL: TOP HANDLE PETROL CHAINSAW GCS 428T PROSHEET: 3/7

POS. CODE DESCRIPTION QTY
31 A05552 SCREW ST4.2X10 4

42 A05551 SCREW ST4.8X14 1

54 A05564 HANDLE 1

55 A05565 TAPPING SCREW ST4.2X45 1

56 A05566 BUSHING 1

57 A05697 PUMP BALL 1

58 A05568 PUMP PIPE 1

59 A05569 HANDLE 1

60 A05570 HANDLE SPRING 1

61 A05571 SPRING COVER 2

62 A05572 HANDLE SCREW 2

63 A05573 SPRING 2

64 A05574 TAPPING SCREW ST4.8X25 1

65 A05575 DAMPER BASE 2

66 A05576 BLOCK 1

67 A05577 TRIGGER CONTROL 1

68 A05578 SPRING 1

69 A05896 AUTO RESET SWITCH 1

70 A05580 WIRES 1

71 A05581 WIRE CLIP 1

72 A05582 CABLE 1

73 A05583 TRIGGER SPRING 1

74 A05584 TRIGGER 1

75 A05585 HANDLE COVER 1

76 A05586 TAPPING SCREW ST4.2X16 4

77 A05587 FUEL PIPE 1

78 A05588 FITTINGS 1



TOP HANDLE PETROL CHAINSAW GCS 428T PRO 27/01/2023

ART. NUMBER: 46057
MODEL: TOP HANDLE PETROL CHAINSAW GCS 428T PROSHEET: 4/7

POS. CODE DESCRIPTION QTY
16 A05525 PIN 3X9 1

79 A05604 SCREW M4X14 1

80 A05590 FRONT BEZEL BUSHING 1

81 A05591 FRONT BEZEL BLOCK 1

82 A05592 FRONT HANDLE GUARD 1

83 A05593 CASING 1

84 A05594 BREAK SPRING 1

85 A05595 COVER 1

86 A05596 HINGE 1

87 A05597 E-RING M4 1

88 A05598 LEAD SCREW 1

89 A05599 SPRING FOR FRONT HANDLE GUARD 1

90 A05600 BREAK STRAP 1

91 A05601 E-RING M9 1

92 A05602 OIL PUMP PIPE 1

93 A05603 OIL PUMP 1

94 A05604 SCREW M4X14 2

95 A05605 WORM 1

96 A05606 WASHER FOR CLUTCH 1

97 A05607 BRAKE CHEEK 3

98 A05608 CLUTCH SPRING 3

99 A05609 SUPPORT RING 1

100 A05610 BREAK SPRING COVER 1

101 A05611 NEEDLE BEARING 1

102 A05612 TAPPING SCREW ST4.2X12 4

103 A05613 CLUTCH DRUM 1

104 A05614 WASHER 1

105 A05615 E-RING M6 1



TOP HANDLE PETROL CHAINSAW GCS 428T PRO 27/01/2023

ART. NUMBER: 46057
MODEL: TOP HANDLE PETROL CHAINSAW GCS 428T PROSHEET: 5/7

POS. CODE DESCRIPTION QTY
94 A05604 SCREW M4X14 2

106 A05616 SCREW M5X45 2

107 A05617 AIR FILTER PRESSING PLATE 1

108 A05618 AIR FILTER LOCK 1

109 A05619 AIR FILTER LOCK WASHER 1

110 A05620 AIR FILTER COVER 1

111 A05621 AIR FILTER 1

112 A05622 AIR FILTER BASE 1

113 A05623 CARBURETOR 1

114 A05624 CHOKE KNOB 1

115 A05625 SUPPORT RING 1

116 A05626 INTAKE-TUBE 1

117 A05627 INTAKE-TUBE SEALING GASKET 1



TOP HANDLE PETROL CHAINSAW GCS 428T PRO 27/01/2023

ART. NUMBER: 46057
MODEL: TOP HANDLE PETROL CHAINSAW GCS 428T PROSHEET: 6/7

POS. CODE DESCRIPTION QTY
102 A05612 SCREW ST4.2X12 2

118 A05540 TAPPING SCREW ST4.2X8 1

119 A05629 TENSIONER COVER 1

120 A05630 GEAR BASE 1

121 A05631 PASSIVE TENSIONER GEAR 1

122 A05632 INITIATIVE TENSIONER GEAR 1

123 A05633 TENSIONER BLOCK 1

124 A05634 TENSIONER SCREW 1

125 A05635 CLUTCH COVER 1

126 A05636 MUFFLER COVER 1



TOP HANDLE PETROL CHAINSAW GCS 428T PRO 27/01/2023

ART. NUMBER: 46057
MODEL: TOP HANDLE PETROL CHAINSAW GCS 428T PROSHEET: 7/7

POS. CODE DESCRIPTION QTY
76 A05586 SCREW ST4.2X16 3

127 A05637 START COVER 1

128 A05638 STARTER HANDLE 1

129 A05639 SHEATH OF ROPE 1

130 A05733 STARTER ROPE 1

131 A05641 START COVER 1

132 A05642 STARTER SPRING 1

133 A05643 STARTER SPRING COVER 1

134 A05734 ROPE WHEEL 1

135 A05645  RATCHET SPRING 1

136 A05736  RATCHET 1

137 A05647 START SCREW 1

138 A05648 FLOW GUIDING COVER 1

139 A08064 SCREW ST4.2X22 2


